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# 1 Type 1 ¥58} X4

gl 7|& K#=(mm)
7= HadY A == 180 210 240
a |lst4CtE) 210 240
b 7IeHENE) 210 240
c TEKE FE HH[(E ) av 50 50
d IR R =0| 150 150
e U Y [nkse) ay 30 30
f 715 ZEE Y| = 5
7ls g 715 & =0| - 5
h £2 SEE ad 90 120
i L2 288 =0| 180 210
J FHE ¥dH r 70 80
k FHE e s 50 60
I FoZ 40| t 60 60
m FHE ¥E=0| o 210 240
n HH| a 210 240
o =0| 210 240
P 2 29| 1{y| _ N
q H 20| &0 - N
=2 r FoE j 70 80
s FOHE CiH k 50 60
t FHY Zdoj(ayih I 60 60
u H 20| 20| w B _
v ol 2o 210 240
w L H| a 210 240
X =0| 210 240
y 2 ZEH =0 = =
z =2 Z3H 2o = .
aa 7ls 28 =0 - .
ab 7ls ZHH o] - 5
ac £4 FHE@EL 30 30
ad s=2 =4 90 120
ae DAY 5 HH| ay 50 50
af TEKE FE 2| 150 150
ag MR Y FE 0| az 30 30
ah AYE E=8 Zo| 180 210
= ai =8 EE8 20| 30 30
3j AXE A= 50| ak 75 90
ak AR A= =540| aj 75 90
al AYE ARS M| HO| am 75 90
am ZEE A= K220 al 75 90
an AYE AHRE S=H ao 30 40
ao TR AE =54 an 30 40
ap AT A= =0 aq 210 240
aq =2 A= =0 ap 210 240
ar AYE A= el as 40 50
as THE HRSF EH ar 40 50
at AYE A= T au 60 70
au TE ARSE TH at 60 70
av | 70 70
Phx| aw =0|(F 7|2 150 150
ax HH|(FE A 2) 150 150
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c MHRY S HH|(2E ) av 50 50 50
d IR R =0| 160 160 160
e U Y [nkse) ay 30 30 30
f 715 ZEE Y| - - =
7l g 715 & =0| - = 5
h 2 284 ac = = -
i £2| E3§ =0| - - .
J e S r = - -
k THE cH s = - -
[ FHE 40| t = 5 -
m FTHY FE=0| o = S -
n HH| a 180 210 240
o =0| 180 210 240
p 5 =9o| 44| 120 150 180
q 5 =9| 20 80 95 110
=2 r FHL H j - - -
s FHF CH k - - -
t FHZ doj(nggh) | - - -
u 52 59 40| w 180 210 240
v ol 2o 180 210 240
w L H| a 180 210 240
X =0| 180 210 240
y 2 ZEH =0 70 105 120
z 2 ZEE o] 120 150 180
aa Jls 284 =0| 10 10 10
ab Jls 28 o] 30 30 30
ac 54 FHEHEL = - -
ad S8 4 - - -
ae DAY 5 HH| ay 50 50 50
af TEKE FE 2| 150 150 150
ag MR Y FE 0| az 30 30 30
ah AYE E=8 Zo| - = 5
= ai =8 EE8 20| - = 5
3j AXE A= 50| ak 60 75 90
ak AR A= =540| aj 60 75 90
al AXE HeF H2[ZHO| am 60 75 90
am AR AHRS 02| Z0 al 60 75 90
an AR HR=E =50 ao 50 60 70
ao THE AHRE S5 an 50 60 70
ap AT A= =0 aq 90 105 120
aq =2 A= =0 ap 90 105 120
ar ATE AT T as 60 70 80
as YR HeF EH ar 60 70 80
at AXE HHeF ¥H au 80 90 100
au THE HAS TH at 80 90 100
av | 70 70 70
Phx| aw =0|(FFH2l) 150 150 150
ax HH|(FE A 2) 150 150 150
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a |lst4CtE) 180 210 240
b 7IeHENE) 180 210 240
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d IR R =0| 150 150 150
e U Y [nkse) ay 30 30 30
f 715 ZEE Y| 30 30 30
7l g 715 & =0| 30 30 30
h 2 284 ac = = -
i £2| E3§ =0| - - .
J e S r = - -
k THE cH s = - -
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m FTHY FE=0| o = S -
n HH| a 180 210 240
o =0| 180 210 240
p 5 =9o| 44| 120 150 180
q 5 =9| 20 90 100 110
=2 r FHL H j - - -
s FHF CH k - - -
t FHZ doj(nggh) | - - -
u 52 59 40| w 180 210 240
v ol 2o 180 210 240
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X =0| 180 210 240
y 2 ZEH =0 60 75 90
z 2 ZEE o] 120 150 180
aa 7ls 28 =0 - - 5
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